TecT U3 eHIJIECKOr je3UKa HA NPHjeMHOM UCIUTY Y (PHIIOJOMIKUM rHMHA3HjaMa U Ofe/berbuMa

jynn 2011.
PEIIEIbA:
I READ THE TEXT AND CHOOSE THE CORRECT ANSWER BY CIRCLING THE
LETTER IN FRONT OF IT. (5 x 2 points = 10 points)
1. b) 2.b) 3.¢) 4.2) 5.d)

II READ THE TEXT AND CIRCLE THE LETTER (a, b, ¢ or d) IN FRONT OF THE
ANSWER WHICH YOU THINK BEST FITS EACH SPACE. (20 x 1 point = 20 points)

l.ey  2.b) 3.¢) 4a) S5b  6d 7.b) 8¢ 9a)  10d)
11.dy 12.a) 13.b) 14.a) 15b) 16.¢c) 17.¢) 18.b) 19.a)  20.d)

II1 READ THE TEXT FIRST. THEN WRITE THE CORRECT FORM OF THE WORD
IN BRACKETS IN THE SAME LINE. WRITE ONLY ONE WORD ON EACH LINE.
(10 x 1 point = 10 points)

1) disappear 2) dreamer 3) vacation 4) enjoyable* 5) unpleasant/displeasing*
6) winning 7) ourselves 8) impossible 9) reality 10) usually.

* or 4) unenjoyable + 5) pleasant/pleasing

IV READ THE TEXT BELOW AND THINK OF THE WORD WHICH BEST FITS EACH GAP.
USE ONLY ONE WORD IN EACH GAP. THERE IS AN EXAMPLE AT THE BEGINNING (0).
(15 x 1 point = 15 points)

I)on  2)as  3) which 4)to S)is/represents 6)Its/The 7) a  8) which/ that
9) whose 10) a 11) their / the 12) do 13) to 14) to 15) if / provided / providing

V READ THE TEXT FIRST. THEN FILL IN THE APPROPRIATE FORM / TENSE OF THE
VERB IN BRACKETS IN THE ACTIVE OR PASSIVE VOICE. PAY ATTENTION TO
THE WORD ORDER. DO NOT ADD ANY OTHER WORDS. (22 x 2 points = 44 points)

1) caught 6) was wearing 12) stared 17) to decide
2) had not (hadn’t) noticed wore were staring 18) turn  /(have turned)*
did not (didn’t) notice 7) looking 13) to do 19) forget / (forgotten)*
3) neared 8) was covered 14) blushed 20) was
was nearing 9) copied 15) to think 21) to accompany
4) could hardly believe 10) felt thinking 22) forming
5) had already heard 11) dropped 16) was happening to form
had happened

* (have turned + forgotten)




VI COMPLETE THE SECOND SENTENCE SO AS TO GET THE SAME MEANING AS IN
THE FIRST SENTENCE. (5x1 point = 5 points)

.. ... unless you..... /..... if you don’t (do not) ......

2. ....itwasn’t (was not) ..... / .... it weren’t (were not) .......
3. ...didyou lose ....

4. ....driven that (this/the) car for ....

5. ... in writing ....

VII WRITE THE FOLLOWING SENTENCES IN THE PASSIVE VOICE:
(4x2 points = 8 points)
1. Sooner or later, the truth will be found out by his parents.
The truth will be found out by his parents sooner or later.
2. Why were the kids given those glasses to play with?
Why were those glasses given to the kids to play with?
A new bridge is being built in Belgrade this year.
4. We are never taught how to breathe properly (by anyone), are we?
We aren’t (ever) taught how to breathe properly (by anyone), are we?

Rl

VIII WRITE THE FOLLOWING SENTENCES USING REPORTED SPEECH:

(4x2 points= 8 points)
1. Teachers warn students not to cheat in their tests and exams.
2. The inspector asks Ms Barnett if she kept her collection of gold medals in her living room.

3. Dad asks Tommy why he always makes his sister cry at bedtime.
4. Jim is surprised that Ann has never sent him a friend request to his Facebook profile or answered his.

Ykynno: 120 noena




CHCTEM BOJIOBAIbA: YKYIIHO MOI'YRE: 120 IOEHA

HAIIOMEHA: Ilpuxsarajy ce npasuita 06a npaBonuca (GPUTaHCKOT M aMEPUYKOT) €HITIECKOT jE3HKA.

I

I

I

v

VI

VII

VIII

Caaxo nuTambe HocH 2 noeHa; Morytinx 5 x 2 = 10 noeua.
Caako nuramwe HocH | noex; Morylinx 20 x 1 =20 noewua.

Caaxo murame HocH | noeH; Moryhux 10 x 1 = 10 moeHa.
Ba:xna Hanomena:
VKONHMKO KaHIMAT IIOTPeIliH Y MUCaby HEKOI OAroBOpa, 3a ucTH 106Hja 0 moeHa.

Caako nutamwe HocH | noen; moryhiux 15 x 1 = 15 noena.
BaxxHa Hanomena:
VKOJIMKO KaHAMJAT TIOTPELN Y NUCalby HEKOr OJroBopa, 3a UCTY 106uja 0 moeHa.

Cpako nHuTame HocH 2 noeHa; Moryhux 22 x 2 = 44 noeHa.

Baskne HanoMmeHe: .

-YKOJIMKO KaHANJAT MOTPELTHO HAIUILE HeMPaBUIIaH IIIaroJl UK HaNMILE IOrPellaH HacTaBaK
(-d ymecTo —ed u o6patHO; -s yMecTo —es u 06paTHo) — no6uja 0 noena.

~YKOJIMKO KaHMAAT HE U3BPIIU IPOMEHY Y MHcamy (GJIEKTHBHOI HACTaBKa Ha Kpajy riiarosa
(yaBajase CyriacHUKa, NpoMeHa —y y -i) — no6uja 0 moeHa.

-YKOJIMKO KaHAKAAT /1a TauaH IIarojicky oONHK/BpeMe, ali W30CTaBH WM nepMyTyje 1-2 cioBa
y KOPEHOM Jielly HeKe oJl peur u3 3arpaje (Hp.: belive, beleive, hapening)- npushaje ce 1 moeH.

Cpako nuramwe HocH 1 noen; Moryhux 5 x 1 = 5 noena.
Baskua Hamomena:
VKONMKO KaHAKJAT MOTPELHN y NUCalby HEKOT OJroBopa, 3a UCTH A00H]ja 0 moeHa.

Cpako nurame HOCH 2 roeHa; Moryhinx 4 x 2 = 8 moeHa.

BaxxHe HamoMeHe:

-AKO KaHJWJAaT MOrpellHO HAIMILE TJIAroN y npeikaTy — Bake Harnomene 3a BexOy 6p. V.
-YKOJIMKO KaHAWJAT HaNUIlIe TauyaH 00K NaCHUBa, aJId H30CTABH YJIaH y CBOM OJTOBOPY UK
NOTPEOHOT BPIIMOLA Pafbe WITH NPESAJIOT Ha Kpajy pedeHule, no6uja 1 noew.

-VKO/IMKO KaHAWJAT HalKIle Ta4yaH OONHK NacHBa, all 3aMEeHH OKa3HH NPUIEB oapeheHuM
4JIaHOM, NIPU3HAjy ce 2 NOEHA 3a Ty PeUCHHUILY.

-YKOJIMKO KaHAWaT HaNKIlle Ta4yaH 00K NachBa, aly HalHILe Norpenian obIuK 3a question
fag WM ra M30CTaBH - TIpH3Haje ce | moeH.

-YKONHMKO KaHAKJAT HaTKIIIe TadaH oGJIMK NacCHBa, ajli HaNpaBU CUTHY OMAIIKY Y NPENHCHBAbY
HEKe CTIOopeHe peyH (M30CTaBH MIIM YJIBOjH HEKO CJIOBO) - MPU3HAjy ce 2 MoeHa.

Cpako nuTamwe HocH 2 noeHa; Moryhux 4 x 2 = 8 noewa.
BaxkHe HanoMeHe:
-AKO KaHAMAaT NOrPELHO HaMMILe [JIaroN y NpeiNKaTy — Baxe HalloMeHe 3a BexOy 6p. V.
-YKOJIMKO KaHAMIAT Ta4uHO YpaJH TpaHchopMalHjy y HHAMPEKTHH FOBOP, ali U30CTABH MK
TOTPEIHO HANHUILE 3aaTH NPHCBOjJHU NPUJER/3aMEHHULY (HNIp. ca anocTpodoM) Wik IIPUCBOJHH
npujaeB 3aMeHH oapehernm unaHom, gobuja 1 noen.

-YKOJIMKO KaHAMAAT Ta4HO ypaau TpaHchopMalHjy NPeArKaTa y MHAUPEKTHH FOBOP, allk
YTIOTPEOH IMYHY 3aMEHHMLLY WM PUCBOJHU NPH/IEB KOJH HUKAKO HE OJIrOBapajy OpUrHHAIHO]
peuenuuy, 1o6uja 0 moeHa 3a Ty peueHuIy.

-YKOIMKO KaHAKAAT HATIPaBH CHTHY OMAILKy Yy NPENMCHBakY HEKE CHOPENHE Peun (U30CTaBU
UJIK yBOjH HEKO CJIOBO) - NPU3HAjy ce 2 moeHa.




